PROFESSIONAL EXAMINATION BOARD

Pre-Polytechnic Test
3rd July 2016, 12:00 PM
Topic:- Physics
1)
Question Stimulus :-

Which of the following star/s remain in the same position in the sky? / fad P AT dRT THHTT A Udh ﬁ
fufer & vgar &2

® Pole Star / Yd dRT

o sirius / FfTH

® Vega / am

® Aldebaran / ﬁ'%uﬂ
Correct Answer :-Pole Star / {d dIRT
2)

Question Stimulus :-

A cockroach covers a distance of 3.0m from A to B and then moves a distance of 4.0 m at right angles to AB. The

resultant displacement would be / T ﬁl?l?lET A ¥ B & 3.081 & ﬁ'\ﬁ T Rl § 3R fr AB & qUSIU
W 4.08 Ft g8 gear 3| ufvonfia fawires g

® Zero

® 1.0m

® S5.0m

® 7.0m
Correct Answer :-5.0m
3)
Question Stimulus :-

The waves that propagate through compressions & rarefactions is / q a9 o gdreHl Td fova 3 wad=
AT §

® Longitudinal Waves / Glﬂ%‘af GEall



® Transverse Waves / S JUX( at
® Elastic Waves / TR T3
® Light Waves / U&TRI a3l

Correct Answer :-Longitudinal Waves / Gﬂ%ﬂf?ﬂﬁ

4)
Question Stimulus :-

The speed of sound in air / §dl o eafsy &1 v
® Decrease with increase in temperature / dTd 37 aﬁ '\ﬁ Ycdl %
® Increase with increase in temperature / <dIq & aﬂﬁ J dedl %
® Decrease with decrease in temperature / dTU & "ed § gedl %
® Remains same with increase in temperature / dIq & aa?r I I Yodl %

Correct Answer :-Increase with increase in temperature / dTd & aa?r I dedl %

5)
Question Stimulus :-

The mirror that has the widest field view is / dg a'thT s gaa T'-ﬁET 833[ == '6;1
® Plane mirror / JHdA E&UT
® Concave mirror / 3ddd E'CfUT
® Convex mirror / 3«id E&UT
® Plane or Concave mirror / HHd YT ddd E'CfUT

Correct Answer :-Convex mirror / 3&d gUul

6)
Question Stimulus :-

When a ray of light falls normally on a glass slab, the lateral displacement will be / STd YT P T fopvor g

A9 R YITATAG: USd! 8, 99 UIfRde fawura=r ghm
° 00

* 60°



* 90°

* 180°
Correct Answer :-0°
7)

Question Stimulus :-

The height of the girl is 5°6” .To see the full image of herself in the mirror, the minimum length of the mirror

should be / T WSH! Bt TS 5'6” §| Tfe 4 Uur & SryAT WR1 wfafa 3@ &), @ e 3t <g=aw
g gl AT

« 29
°« 28
*« 227"
* 26"
Correct Answer :-2’9”
8)
Question Stimulus :-

A ray of light is passing through a parallel glass slab. The emergent ray / YbIR[ P T fopvor gHiaR @y g
& ToR @ 8| foria fevor

® Undergoes deviation only / Fad faga- SJHd C G| %

® Undergoes dispersion only / Fad ysIv= S(JHd Il %

® Neither Undergoes deviation nor dispersion / -1 o foge= eiR 9 Bl Yo SfJHd Il %

® Undergoes partly deviation & partly dispersion / GI'QTgﬁ_d fame sk GTQ'IE&T‘T UPIof SfJHd Il %
Correct Answer :-
9)
Question Stimulus :-

There is a circular road whose one round measures 11 km. A car starts from A
and reaches the exact opposite position B as shown below. Its displacement is

/ T% JUIPR AsS et Te gRT 11 {5t 31 1@ &R A ¥ URY Bt 8 Td gurd faudia fRufa
B TR Ugddl 3, T fop forr o faaman wam 8| s9eT faumu= 2



e 3.5km /3.5 fodt
e 55km /5.5 ot
e 7.0 km /7.0 fopeft
e 0km /o fodt

Correct Answer :-3.5 km /3.5 foodt
10)

Question Stimulus :-

When a graph of one quantity versus another results in a straight line with a
positive slope through the origin, they are / 519 T& I% # T URATU $I a1 TP 3=
& 1Y DI ATl §, 3R ufvony ga fig A v e ear 3t T A Y@ gidl 8, 99 At gt 8

¢ directly proportional to each other / T W & SIIHHATIUTd

® inversely proportional to each other / T W cg W’Iﬂ'ﬂ'ﬁﬁ

® independent of each other /WW q WA

® always equal / q&d SRTER
Correct Answer :-directly proportional to each other / Tdh W & SIhHTIUTd
11)
Question Stimulus :-

A ball is thrown up with a velocity of 10 ms™1 from the top of a terrace of height
10 m from the ground level. The time taken by the ball to fall to the ground is:

(Take g = 10 ms™2). / T& ¢ &I Y ®R I 10 Hlo Sl TH Sd P RRARA 10 ms 1 &
AT A SW Pt 3R BT 41| YA R R & 1w Ae gR o mr a9 8: (g = 10 ms™2 ) |

* (\3+1)s



* (\3-1)s

* [(V10-1)/2] s

° [(NV10+1)/2] s
Correct Answer :-(\3+1)s
12)

Question Stimulus :-

Which one of the following graphs can represent a motion with a uniform
positive acceleration? / Fufeifad # & &9 IT 3ol T GHIF YTHS @RI TTd BT

USRI H Jhdl 8?2

(t = time; v = velocity; a = acceleration) /(t = HHY; v = a"T; a = i)

' Y
v

L

,;_-'1"



v

Correct Answer :-

13)
Question Stimulus :-

An athlete weighing 54 kg running at 4 ms™! increases his speed uniformly so
that his momentum after 6 seconds becomes 540 kg ms™1. His acceleration
is : / 54 fHal a9 aTen U fQATE 3T 4 ms™1 A Qs T 3, STD! A UM U J 59 PR
dedl 8, fF 6 APbs & T1g IUPT AT 540 fFal ms™1 g |11 31 STHT AU B

e 1.2ms>

* 1.0 ms>

* 0.8ms3

* 0.4ms™3

Correct Answer :-1.0 ms™

14)
Question Stimulus :-

A thick wire is tied to a hook on the wall to hang a focus lamp just above a
statue in a temple, as the dome above is far too high to hang the lamp from
there. In order to keep the lamp just above the statue, the wire needs to be
pulled horizontally and kept in position by tying it to another wire whose other
end is fastened to a hook on the opposite wall.

(See the diagram below). The lamp weighs 30 kg and the wire supporting it

makes an angle 30° with the wall. The minimum tension the supporting wire
should be capable of bearing is /

% dfeR A U ufadT & S IR TP BIeY AU dedp & i IR R T §6 A TP Hiel dR ST
T &, TP 7ag & HUW P Bl HaIs aW deh & fagra A P Sl 81 dv &) ufaar & Sie
SR @A & fog, ar & afos v § T vd St fRUfY & gav arR § aieq 3t smazawar @ oy
T BR fArdid SR & g @ 991 81| (9 3RE &) A7 &1 g 30 fHuT § vd a8 IR & 99
mg?ﬁﬁ,aﬂmﬁ3o°mﬁwmé| HERT &7 arell IR 3T freay 9419, St ST 984 o34 §
H&H Bl :

(Take g =10 ms'2)



'I'I1r

e 350N

e 300N
Correct Answer :-350 N
15)

Question Stimulus :-

P is a hotel on top of a mountain peak of 5000 m height from the sea level. Q is
a house in the Mediterranean coast. R is at the bottom of a mine, 2000 m below
the surface of Earth. Gravitational pull / P 99% 9@ & 5000 HieX &l U udd dicl &
3 IR TP gied 81 Q YU R & d¢ WX TP W g1 R, Yl &1 Hag & 2000 Hier 7 Ry«
TF We & A g1 [eareyur fEama:

e will be the same at P, Q and R. / P, Q ¥d R TR JHTH 8|
* atP and R will be more than the gravity at Q. / Q @1 3[U&T P Td R W TTHYUT 3 g |
® at P and R will be less than the gravity at Q./Qﬂ% Gﬁ&HPQﬁRWWGfUT H Eﬁ'ﬂTl

 at R will be more than that at Q, which will be more than that at P.

/ RWR Q ¥ 34t ghm, oW ge P ¥ 3iftre g

Correct Answer :-at P and R will be less than the gravity at Q. / Q 31 3[U&T P Td R W Wﬁw
SH I |

16)
Question Stimulus :-

Gravity is more at the poles than in the equator because / TS@BYUr Yaeg 3T Ht
ST yai wR e § wife :

® Poles receive less sunlight than the equator. / i@ WR YA IGT B U HH YU ured gt %l



 Earth’s magnetism is stronger at the poles than at the equator. /
gt BT gad @ yal W YU W1 Bt e ARE yad gl

® Poles are covered in thick ice while the equator is not. / gam% @1 A1 WA A &b § wafd HHY
G178 |
e Earth bulges more at the equator than in the poles. / t[%ﬂ Yd CAROLE |

YHe G W 3HRF IUI 53 B

Correct Answer :-

Earth bulges more at the equator than in the poles. / Gl §a @1 3U&T YA 3@ W TP IHH

g3 ol
17)

Question Stimulus :-

A simple pendulum has a time period of 1 s. When the mass of the bob is doubled and the
length of the pendulum is increased by a factor of 4, its period becomes / T I4Xd GIGEZC
3af¥ 1 YHUS B | 9 919 T SHAM SRAT HR 34T 91T 3 3R A 1 a1 4 F SRS A Fe7 1391 wran
2, df SuPT orafy &7 ot @

* S

* 2S

o 4 s

* 4S
Correct Answer :-2s
18)

Question Stimulus :-

Two springs with spring constant 6500 Nm-1 and 3500 Nm-1 are connected
first in series and then in parallel and made to oscillate with the same load
attached. The periods of oscillations, Ts : Tp will be approximately in the ratio
/ & f8iv fore1 wuT fRRI$ 6500 Nm-1 Td 3500 Nm-1 g, aﬁ%ﬁﬂvﬁ%&ﬁ?ﬁb—{
THIAR ST 7T € U9 JHH HR & SISH SIa- ST ST 8| 1A BIa @ Ts : Tp S AT

59 3guTd | g



e 1:4

° 4:1
Correct Answer :-2:1
19)

Question Stimulus :-

Which of the following sentences is NOT true of a stationary wave? / fRgfefaa & @ &9 ar
I T TR & fawg & Hew e @2

® All the particles cross their mean positions at a time. / g Por 3yt e fRUfT Y I{Tﬁﬁ JHY IR
I B g

®* There are some particles which are always at rest. / & PU[ Qﬁ '&ﬁﬁ %\‘rﬁ ﬂéﬂﬁm - | ?3?[ %]
® All the particles vibrate with the same amplitude. / Yt T U ATATH &A1Y BT FId %'I

® There is no transfer of energy across any plane. / ot off Twrae § St @1 ﬂ'ﬂi ESIGEL T-Feﬂ %l

Correct Answer :-All the particles vibrate with the same amplitude. / g BT JHTT AATH & 1Y
HU9 B B

20)

Question Stimulus :-

Distance between any two nearest points in a wave train that are in phase is called / T®

ARy & Rt off @) Fieay Rigelt ¥ dta o1 g8, <t b wawn 4 ¥, Feal &
e amplitude / 3TATH

e wave length / 937 ¢&f



® phase factor / UTARYT UTH

e wave span /a3 fawgfa

Correct Answer :-wave length / 93 d&f

21)
Question Stimulus :-

Frequency and Wavelength of a wave / T a3 &1 9371 ¢&f wd 3mgfa :
® do not have any relationship in their variations. /sq%af‘mm uf¥ad= & ﬂﬁi Y Hﬁ %
® are always directly proportional. /|ed SIHHTUTT g 7l
® are both dependent on the phase difference. /ﬁ‘ﬁ Farar R R a4 %]
® are always inversely proportional /Ww E-;ﬁ %'l
Correct Answer :-are always inversely proportional /Ww ghd %]

22)
Question Stimulus :-

Shape of the Milky Way galaxy is / GTUAIT STHTRAIT &1 PR 3 :
® Spiral ; affa
e Elliptical / $t¥f guT®R
° Regular/ﬁl’qﬁl'd
® lIrregular/ Srfrafira

Correct Answer :-Spiral / Gffa

23)
Question Stimulus :-

A galaxy that is movmg towards Earth will show in spectra / T 3{THTRFIIT Tl qza’ﬁ P 3R dg el %

Wagr § fe@mm
® achange in shape and sizeléﬂ?‘ﬁft{? AMPR o Wqﬁﬂ?&f
* a blue shift / T =Ia 3T &1 fouo=

* ared shift / T AT T &7 fARITTT



® adecrease in brightness / dH® H

Correct Answer :-a blue shift / T% =d 3T &1 foyma=T

24)
Question Stimulus :-

Two coils are identical except that one has air core and the othgr an iron core.
If their inductances are Lair and Liron respectively, / &l pusferal smud o T g
Rrara 39% & & § 9 #is U9 U@ 3= H dig-$is | aie 391 R HUN: Lair TS

Liron %, ol :
e Lair > Liron
e Lair < Liron
e Lair = Liron

e It cannot be decidec] without Ig’nowing which way the coils are .
wound. / {31 98 oM % gusiual o ww 3 firft g8 @ 9g Fuifea =8
foran < godr g

Correct Answer :-Lair < Liron

25)
Question Stimulus :-

The force between two long current carrying parallel conductors is / MR ¥U I ?@ﬁ?{fﬁ[
YRT YaIed g1 T ATADI & HA A © =

e directly proportional to the product of the currents and directly proportional to the

gistance between them / fagadq YRS & UM BT ATHUIUTT Td 3P T g3t BT SHATIUTT

® indirectly proportional to the product of the currents and directly proportional to the

gistance between them / fagadq YRS & UM ST YHANUTT Td 3P T g8 BT IHATIUT

e directly proportional to the product of the currents and indirectly proportional to the

gistance between them / fagaq YRS & UM BT SIHUNU T 3P AW gl BT JRpHATIUTT

® indirectly proportional to the product of the currents and indirectly proportional to

the distance between them / fagaq YRS & U T FSHATIUT Td SId A gl BT
GPHTIUTE ¢

Correct Answer :-directly proportional to the product of the currents and indirectly

proportional to the distance between them / ﬁ'g','fﬁ[ URTSA & U ST AJPHATIUTT T 39S 7 Qﬁ



&1 HPATIU §
26)
Question Stimulus :-
Brushes are used in DC generators to / Stodto W ver | q?‘ﬁl'lﬂ ST WA fpaT SITan 3
® collect current without any sparkings / forsft fommrdt & o ﬁgu'cr TRT BT Uhd CIE k]

e collect voltage / fagad ara 3t Twld HA &

® reduce eddy current loss / ‘l-\l'ﬂT'H'RT ETﬁ Bl HH FA A

e convert AC armature current into DC / AC 3TH=R fagaq ¥RT ®t DC fagaq uRT ¥ ufiafda A &
ferg

Correct Answer :-convert AC armature current into DC / AC =R fagadq ¥RT1 1 DC fagaq Ut
# gfvafda s & fog

27)
Question Stimulus :-

A solenoid of length 80 cm and radius 2 cm has four layers of 500 turns each. The
magnetic flux density at its centre on its axis when a steady current of 1.4 A passes

through the coil is (Take p, = 4n X 10-7 NA-2) / 80 41t @wars ud 2 9t fAwar arelt vsp ufkanfereT
¥t 500 YHIG I1d IR URd §| 99 1.4A Treit R fagadia urT $adt A yared gidt 8 @ 39F 3y & Fsx W
yaIfed @A UaTg &1 ¥ :( M, = 4n X 10-7 NA-2 difor)

* 88X10-3T

* 6.6X10-3T

® 44X10-3T

* 22X10-3T
Correct Answer :-6.6 X10-3T
28)
Question Stimulus :-

The eye lens in the human eye has the ability to adjust its focal length in order to see
objects at different distances in focus. This capability is known as / HFd EER: G| ﬁ, fafir

I IR I agfl Bl Hixd IR ¢E F AT Bivd daTs B THRNG B B &UdT gl 81 T &I Bi
SHAHM A AAA R

e Persistence of vision / €fte fAdy



® Farsightedness / Wﬁf?ﬂ

* Accommodation / FHGT

° Astigmatism/%‘f@'a'm
Correct Answer :-Accommodation / JHGIH
29)

Question Stimulus :-

When a person enters a dimly-lit room after having been in bright sunlight for a
while, he cannot see practically anything for some time. This is due to : / T®

I $© 9T & e Iad RS 3t A § I54 & 916, 99 Th HH AT a1l HAL H gaL
A1 &, 9 98 $° 999 & ¢ raeie &U 4 $© W 76 3@ 9odl | $9ST PRUQ :

e the eyesight of the person being very weak. / fdd @ €f¥ 9gd HHER 81 ST 2]

e the eyelids closing down by themselves. / Td® ¥4 §¢ 8! STd] &

® the pupil in the eye taking time to adjust. / 35 § Jaelt FHTANG 4 & foe Iwa ot 8]

® the sudden temperature change. / 3[dT-® dTUHTA uf¥ad—

Correct Answer :-the pupil in the eye taking time to adjust. /AT W gHTafo T;ﬁef & ﬁl’Q qHY
adt 3

30)
Question Stimulus :-

The resultant of two forces 5 N and 12 N on a body always lie between / T® d¥]
W S gl 5 e 3R 12 Je &7 ufvunHt 39% v Igd1 3

«eONand17ZN/ONS3RR 17 N
e ONand12N/ONS3R 12N
«ONand5N/ONS3R5N
e« 7ZNand17ZN/7N3R 17N
Correct Answer ;-7 Nand 17N/ 7N 3R 17 N

31)

Question Stimulus :-



The ratio of K.E required to be given to satellite to escape earth’s gravitational field to K.E required to be given

satellite to move in a circular orbit just above earth’s atmosphere is: / ot Iuug 3t T&ﬁ & W&UT aT
T H3 3R At & argHed & 3P FHW T JAIdR H& H Afd 1 & Y snazas nfas Sui &1

® 0.5

* Infinity / 3(Fd
Correct Answer :-2
32)

Question Stimulus :-

Two men weigh 70 kg and 84 kg respectively and their heights are in the ratio
5:6. The.ir body.inertias are in thg ratio / a‘raﬂ%nﬁmamm: 70 ﬁ:‘ﬂTt{H 84
fPuT @ U9 ST aTS 5:6 & U A 8| 3P INR & SISd HT U § :

Correct Answer :-5:6

33)
Question Stimulus :-

An object of mass 36 kg moving at 10 ms™! is subjected to a force of 54 N. Its
speed after a minute will be / 36 &I a0UM ® T a3 54N T & AT 37 10 ms”

1 3 nifawr= 8| v fide a1 g99! nifa 8hft -

e 70 ms™

e 90 ms™

e 100 ms™

e 150 ms™!



Correct Answer :-100 ms™!

34)
Question Stimulus :-
Magnifying power of a telescope in normal adjustment, with 1m and 10 cm
respectively as the focal lengths of its objective and eyepiece, is /
@1 3fHTZgP Td AAST HHR: 1 Hlo vd 10 IH 81, 99 A=
cHpIg Bt At &rar :
e 1000
°* 110
* 32
* 10
Correct Answer :-10
35)
Question Stimulus :-

Magnifying power of a simple microscope of focal length 8 0 cm for a person
whose least distance of distinct vision, D is 20 cm is / W fore wiedier

8.0 It arelt Yere=H @t smadH aman, Rt gwuse =9 & e freean g&, D § 20 I, @
* 35
* 38
° 40
® 42
Correct Answer :-3.5

36)
Question Stimulus :-

Arrange the following planets in increasing order of size: Earth, Mars, Jupiter,

Uranus / FRrafif@d T8 &1 9¢3 STHR & HH § Tl ; g, e, ey, 3
® Earth — Uranus — Mars - Jupiter/q?ﬁf - W - {9 - q%@ﬁr
e Mars — Earth — Uranus — Jupiter / TTd - T - 99 - gg&fd



 Mars — Jupiter — Earth — Uranus / §Tel - §8&Ufd - Gdt - T
e Earth — Jupiter — Mars — Uranus /t[?iﬂ - Te!'\‘qﬁf - W - qﬁ‘—m
Correct Answer :-Mars — Earth — Uranus — Jupiter / HTe - Qd} - g9 - gg¥ufd

37)
Question Stimulus :-

Arrange the following planets in the decreasing order of natural satellites they

possess: Neptune, Mars, Mercury, Saturn / Frafataa ‘JI?[ :a 1TI§)‘|?I$ G‘Wﬁ P ged U A '\‘-'ITrlTﬁ
ot 9% PR | § : AUSgH, WE, g4, IH

® Mercury, Mars, Neptune, Saturn / 4, d, ﬁ'q?{l?[, o
® Mars, Saturn, Mercury, Neptune / HTd, 3«’Iﬁf, q4Y, ﬁu%q:—r
e Saturn, Neptune, Mars, Mercury / X1, ﬁ'q?ﬂjl, IS, Y
® Neptune, Saturn, Mars, Mercury/ﬁ'qaf-r, QT&[, HTd, qY
Correct Answer :-Saturn, Neptune, Mars, Mercury / X1, ﬁﬂiqf-l, |, g

38)
Question Stimulus :-

Solar energy is used to a maximum extent in / R St BT YanT EL Fa'q’ A siftrpaw Jwr g« fear wrar
q:

solar heaters /'\‘ﬁ'\' '(ﬂ?\’
® solar calculators /ﬁ? ufyefe

satellites / 3UUg

® road signs / USSP ﬁr@'{
Correct Answer :-satellites / SUUg
39)

Question Stimulus :-

An ecosystem which can be easily damaged but can recover after some time if damaging

effect stops will be having / T TIRFRIfAST & & fF TRaar ¥ gfovra 8 9ol 8, R afe s oR®
YT ¢ 1 9Y o $© T9G & 94T U: IR W It 8, & gl

® high stability and high resilience / 3= fRRar Td I TRl



e low stability and low resilience / 19 fRRGT d forg yeamee
* high stability and low resilience / 3= fRRT Td 19 yaTRAET
® |ow stability and high resilience / e fRRar Td I WA=l

Correct Answer :-low stability and high resilience / {99 fRRdT Td 3= yam=yar

40)
Question Stimulus :-

When you sit in a bus at rest, there is a tendency of falling back, when the bus suddenly starts, this is due to /

%rq'mwﬁaﬁﬁ,ﬁwwmwﬁ?ﬁiﬁtﬂ%ﬁlﬁﬁm@?ﬂ%ﬂ%’sﬂﬁ?wam

® Velocity / a7

® Inertia / SISd
® Torce / dd

® Mass / SUHTH

Correct Answer :-Inertia / SIS

41)
Question Stimulus :-

The maximum displacement of a particle from its mean position of the wave is / DUl P AT DY

a1 fRufa @ sifteaw e gar @
® Wavelength / a3 §ﬁ
® Amplitude / 3TATH
® Wave period / GEU KIS
® Wave frequency / @< 3fTgfxl

Correct Answer :-Amplitude / 3[TATH

42)
Question Stimulus :-

All images produced by concave lenses are / 3add a9 g1 84 9t ufafas gia g

® virtual, erect, and reduced / STHTY, d, 3R agdpd



® erect, magnified and virtual / I‘Fﬁ, 3mafdfd s Myt

® inverted, reduced and virtual / 3¢ICl, STYPd 3R STt

® erect, real, enlarged / W, wﬁw Sﬁ? qﬁaﬁh
Correct Answer :-virtual, erect, and reduced / 3THTIT, d, 3R gopd
43)

Question Stimulus :-

The product of Force and Displacement equals / d¢1 3N fawuTg 1 o 3'\"4% ISR BRI
® Power / fed
® Momentum / AT
® Work / Cap
® Kinetic Energy / Tfas St
Correct Answer :-Work / &4
44)

Question Stimulus :-

A ball of mass 1.5 kg is hurled up vertically by a launcher with a speed of 18 ms-1. Its
kinetic energy at a height of 12 m is : Take g = 10 ms-2) / U& g forgeT saawE 1.5 fFuT 8,
TS YHIFRT & §RT 18ms-1 $1 Tfd ¥ I&T FU A HW ST 3R b1 Ma1| 12 Ho 3T

°* 63J

°* 39J

° 42

° 84J
Correct Answer :-63J
45)

Question Stimulus :-

Assuming that one parattha gives a hill climber of mass 60 kg the energy of
24kJ and the efficiency of converting the food energy into physical work by the
man’s body is 25%, the height he can climb from the energy gained from one
parattha alone is (Take g = 10 ms2) / 9% HTd ¢ f% T& WRTST T ydaRIzt fora®T g0 60



f5UT 8, DY 24kJ B oIt IdT @ TA 3TeH & IR A, IS Soit & Hifas &rd A ufvafdd & ot qaEm
25% &, U HTH WTST T UTW Soll § 98 Sd-11 SIS I¢ Il g

e 4m/4o

e 6m/6Mo

e 8m/8lo

e 10m/10H¥o
Correct Answer :-10 m/ 10 Hlo
46)

Question Stimulus :-

Solidification of radioactive waste means / Xf&a1-afepg GN'QI'E CAVELE: | Gl?f%
e Calcinations / fAaT=
¢ Bituminization /ﬁgﬂﬁw
e Vitrification / BT ®T FTUTART
e All of the above / JuRIad Tt

Correct Answer :-All of the above / SURIad I

47)
Question Stimulus :-

Rate of change of torque T with deflection 6 is maximum for a magnet, suspended freely in

a uniform magnetic field of induction B, when : / ﬁéﬂ'ﬂ:{ 0 aﬁaﬁr%qﬁﬂﬂqaﬁﬂéﬁlﬁ'ﬂ%
TP & g oY Wadd ©U A 0T B & THIAAM gab 1T & W TP g3 8, Jaid :

® 9=0°
® 9=45°
® 9=60°
® 9=90°
Correct Answer :-0 =(°

48)

Question Stimulus :-



A capacitor is connected to a cell of emf E and of some internal re5|stance The potential

difference of : / T® U, TF A (emf -E) T4 $© 3fiaik® Aol A Jo1 81 af fAuaiaw :
e cellisE/JAPTE
e cellis<E/Td BT <E
® capacitor is <E | FUTRA BT < E
® capacitor is > E /| FYUTRT BT > E
Correct Answer :-cellis E /9 @1 E

49)

Question Stimulus :-

Two plane mirrors are placed perpendicular to each other. A light ray strikes the first mirror and after reflection
it falls on the second mirror. The ray after reflection from the second mirror will be : / 3 gHad guur e W
¥ TEId IQ §U B TH UHTRI Bt fH0r ugd v R usdl B Td Wradd & 91g g U W usdt 71
GY gUur | WRrafdd g1 & a1 fovor g -

® Perpendicular to the original ray / §cl fpvur & wiEad

® At 45° to the original ray / {1 fopvor & 45° W

® Parallel to the original ray / §& fopvor & guiaR

® At 60° to the original ray / & fhRUT & 60° W
Correct Answer :-Parallel to the original ray / Jc oo & AR
50)

Question Stimulus :-

The velocity of light emitted by a source S, observed by an observer O, who is at rest with
respect to S is c. If the observer moves towards S with velocity v, the velocity of light as
observed will be / Hd S §RT IS UHTR BT A, W& O gRT Nfe forar mar, oY 6 s & T @
fasmr srawat ¢ ® 31 Ol Verd s P 3R v I A oran 8, Wea foan war weT=r &1 3 R

® c+vy

| P ——
o W1— cofve

Correct Answer :-¢



Topic:- Chemistry
1)

Question Stimulus :-

Which of the following is not an element? / ﬁl"}lﬁf@ﬁ s | ﬁ ?ﬁ'—r dd 7‘|€f %?
® Graphite / 'a'm
® Germanium / ceipe
o Silica / faferest
* Silicon / ffe/d=
Correct Answer :-Silica / Raferar
2)

Question Stimulus :-

Burning of fossil fuels releases gases that are / STaTEH %9 ¥ Sa & 1Y gaa g1t 2, <t ¥ &
® Acidicin nature / 3% Wﬁf G|
® Basicin nature / &I UPHfd Bt
® Neutral in nature / 3IGRIM UG Td BT
® Amphoteric in nature / SHIYHT Wpfa
Correct Answer :-Acidic in nature / 3T Wpfd Bt
3)
Question Stimulus :-

A metal compound reacts with dilute hydrochloric acid to produce
effervescence. The gas evolved extinguishes a burning candle. The gas is / T HTq

CREGESIESIRES
m%muuﬁmwwmmélﬁwﬂﬁvwmﬁﬂmaﬁwﬁélwﬁv



* CO
Correct Answer :-co,
4)
Question Stimulus :-

The total number of elements known at the time of Newland were- / qﬁg & gHY JTd dcal B A @ gt
° 20
® 63
® 56
® 65
Correct Answer :-56
5)

Question Stimulus :-

Goitre is caused due to the deficiency of / oyr ?Nﬂ% FHI & BRI a?lT %:
e Calcium / HfeaaH
* Todine / JTAISH
® Jron / 3T
* Sodium / WIfSaH
Correct Answer :-lodine / TSI
6)
Question Stimulus :-

Which one of the following is not a characteristic of an ideal fuel? / ﬁ'ﬂ = | GI'IE'Qf €u=r DT AEUT CaE| gl Th

TE &
® High calorific value / 3™ CRINGEE R
® Spontaneous burning / ¥dd: g8
® High ignition temperature / 3 Usdd-dIq

® No emission of smoke / HE DI ?ﬂ'ﬁt IS qﬁ



Correct Answer :-High ignition temperature / 3o Uodel-dIy

7)
Question Stimulus :-

The symbol of the metallic element which is used for making thermometer is- / dg uIfa® dd, foraeeT yaT

yHiHex 9 & fomar omar g, &1 wefte @ -
* Ag
* Hg
* Mg
* Rg
Correct Answer :-Hg
8)

Question Stimulus :-

The number of electrons in the atom of an element is 6. The number of neutrons is 8. The correct representation
of atom of this element is. U Tcd & URUTY] H FAFEI] B GGAT 6 31 Y-l $I TS 8gIsH AT &
QRUTY] T Het fR=qor g -

° 8X6

° 6X8

6X14

* 14X°
Correct Answer - x 14
9)
Question Stimulus :-

Which one of the following represents the correct electronic configuration of
calcium(At No 20) / fFafifaa & ¥ #19 HfR™H (At No 20) &1 TE-Tg!
fa=ara frefua wwar 82

* 238.38,2

* 2810



* 288

® 28,182
Correct Answer :-2,8.8,2
10)

Question Stimulus :-

The formula of a compound is XPO,4. The valency of element X is- / T e &1 qA ? XPO, ded X L)

TYIeidr gifl-

Correct Answer :-3

11)
Question Stimulus :-

One of the following elements has an atomicity of 8. This element is- / frafafed & 9 e aa & UIHT[R T
821 9EAT®T -

® Argon / 3T
® Hydrogen / EE@FF{
® Sulphur / JPBY
® Ozone / 3=
Correct Answer :-Sulphur / b

12)

Question Stimulus :-

One of the following represents solution of solid in solid. This one is: / frafafea 7 9 Udp, 3 ¥ 3l & Oi|
P UehRid ®d1 g1 U8 UP &-

® Barium / sfvas
® Brass / Haa



® Beryllium / afvferayg
® Bismuth / famy
Correct Answer :-Brass / Uldd

13)

Question Stimulus :-
During the respiration combustion of glucose takes place in the cell. During this process carbon dioxide and water
is produced as waste. These waste products leaves our body by the process of / 494 & a'TF-I PIRAPT A
BT BT G5 oIl ¢ §H UHAT & SR BTA-ST5-HHAT5S Td oId UTRIT & Y | IadTied gid 81 d
iy uerd gAR IR | ufshaT & gRT Sfofd gid gl

e Effusion / o=

* Diffusion / faTROT

® Osmosis / IR

® Plasmolysis / \_’ﬂw

Correct Answer :-Diffusion / faTRUl

14)
Question Stimulus :-

HCI and NHj are covalent compounds but their aqueous solution conduct electricity. This is due to — / HCI MR

NH; TeaUoT® UIfie § g IT1 Siellg faea Agad ITierd $edm 8| SHPT PR 8-
® the presence of free electrons in the solution. / foea & Had gaaﬁ'—ﬁ ot Sufyfa
® the formation of ions in the solution. / faeg & sy &Y ==
® the formation of hydrated compounds / STt afirel Y =T
® the formation of coordinate compounds. / m@’*ﬂ?ﬁ P! Bt T

Correct Answer :-the formation of ions in the solution. / fa@d A gAY B =T

15)
Question Stimulus :-

Identify the substance that gets oxidised in the following chemical reaction / dg ety

eI &Y A I ufafsar & sifedied g orar 2



CuO+H, _4& J Cu+ H0

* CuO
[ ] [-[2
* H,0
Correct Answer :-H,

16)

Question Stimulus :-

The number of valence electrons in 82" is / $2° ¥ Troil E'a'afl’:ﬁ IR :

Correct Answer :-8

17)

Question Stimulus :-

Which bacteria is responsible in the nitrification in nitrogen cycle / H@Tﬂ"_‘l’ argfea & T'I'I?[a?)_\"UT # B a1
deAifar Swrerdt gt g2

® Clostridium / FATRE ST

® Rhizobium / ISSNTIIH

® Nitrosomonas / ?rsa?ﬁ'q‘ﬁm

 Nitrosomonas and nitrobector / HT'&'@WW 3R HTE@QHE’T
Correct Answer :-Nitrosomonas and nitrobector / ATS¢ AT 3R ATgcidaex

18)

Question Stimulus :-



When electric current is passed through an electrolyte, the cations / Sd ﬁ'g',TIT-[ URT TH

fagaqaraaey | Tordt 8, 99 Y= A
® Migrate towards anode / TS @I 3R fawuifia gid &
® Migrate towards cathode / HUS B MR fa=fia g1d &
® Lose electrons / SAGEIl P @l 3d &
 Remain unchanged / 3Mqfafdd gd &
Correct Answer :-Migrate towards cathode / $UIS P 3N fa=u1fa ga &

19)

Question Stimulus :-

An element with atomic number 38 is placed in / 38 URHIHFHI® & TP dcd HI U0 IGT SIIdT &
e 5% period and 2™ group / 5" 3rad Sfiv 2nd R
e 6™ period and 2" group / 6t" 3Tad 3R 2" TE
o 4™ period and 4™ group / 4" 3Tad SfiX 4th qqg

e 2" heriod and 5™ group / 2™ 3Mad SfiR sth R
Correct Answer :-5" period and 2" group / 5t 3fTad 3R 2" TYF

20)
Question Stimulus :-

When a gas jar full of air is placed upside down on a gas jar full of iodine vapours, the
violet vapour from the lower jar go upward into the jar containing air. In this experiment:

/ T T W TP I IR I IS arsg F W T IR & HUR Id¢ R 7@l Iidl ¢, af 1 I oR |
S T IR IoHT AT A W SR A IAT a1 g1 SH UG H :

® Air is heavier than iodine vapour. / gdl M aryg ¥ 3ifYe U iﬁ?ﬁ%l

® Both iodine and air have the same density. / AMEH QHEHT aT'ﬁW WWE’;’R‘H %I

® Jodine is heavier than air. / MASHE Bdl J 3iftre HTH a?ﬁ %I

® Jodine vapours can not be heavier than air because it is going upward against gravity. / TSI arsyg edl

¥ 3iftrp Ut T8 81 ThaT FfP T8 TPareyur & faeg FW o1 3R 1 3T 2
Correct Answer :-lodine is heavier than air. / TS Bdl J 3rfte U E?R'ﬁ %I



21)
Question Stimulus :-

Select the exothermic reaction from the following / Fafefaa d & Swmerdt sridifrar &1 g

CH,+ 201{3} —_—p Coz{g} + ZHQO{g}

3Fei) + 4H,0 (steam)  Fe3Oups) + 4Hyg

2FE‘SO4{5} A FEzOg{s} + SOz{g}+ 503{3}

Pb(s)+ CuClajaq) —  PbClyjaq) +Cuyy

Correct Answer ;-4 ¥ 2029 ——» COzg +2H,0y

22)
Question Stimulus :-

When potassium iodide solution is added to lead (II) nitrate solution, yellow precipitate is

formed. / 59 NeRW MalsEs faay &1 As(11) A15ec fawa & s@r wirar 8, Wiar sa&y s=ar 21

The chemical formula of the yellow precipitate is / T @& &T IS T &
¢ KI
° Pbl,
®* Pb(NO3),
¢ KNO,
Correct Answer :-Pbl,

23)
Question Stimulus :-

Which one among the following has non-directional bonds? / fafefaa & & fFad sifeflRie
3EY g 872

* CH,

* NH;



* KCl

® BeF,
Correct Answer :-KCl
24)

Question Stimulus :-

Magnesium reacts with copper oxide as follows :- / AiRW HTR AfFAES F TY 5T UPR
Sffpar e 8:-

Mg + CuO — MgO + Cu
This equation represents - / Ug WE‘-‘«’I‘THT%—

® Double displacement reaction as well as redox reaction. / fg fawura srfufsrar oiik Ystew sifufrar
® Displacement reaction as well as redox reaction. / fawumg siftferar ok Ystaw srffsrar

® Double displacement reaction as well as Combination reaction. / fg faurae srfifsrar ik ﬂ'ﬂﬂﬂ
<R E

® Displacement reaction as well as decomposition reaction. / fowurae srfferar iR sraege sif¥ferar
Correct Answer :-Displacement reaction as well as redox reaction. / fazumas srftifrar iR Ystaw siftfssar
25)

Question Stimulus :-

A covalent bond is formed / Tdh wwﬁw YT BT TS Eﬁ?ﬂ % -

® between highly electropositive and highly electronegative elements. / 3 ﬁgﬂ?ﬁ TP Ud S

fagadt BomTers a@l & F=
® between two highly electropositive elements. / a S= ﬁgvrcﬁ YHTHS ddl & |

® between two atoms of comparable electro negativity. / 3-1 ﬂ?F-ﬂTf %gu?ﬂu HBUTHBAT & mﬁﬁ &
il

® between atoms of noble gases. 3cP¥ T & méﬁ & dta|

Correct Answer :-between two atoms of comparable electro negativity. / al g?FﬂT{ agq?ﬂ'q BUMTHDIT
& qRETUS & i |

26)

Question Stimulus :-



What is the name of the alloy of tin and lead? / frAaRdasF ﬁ[%ﬂﬁ DI ATH HT %?
® Solder / 3 1 [k
® German Silver / wHq ?I'I_QP[
® Brass / taa
® Bronze / BT

Correct Answer :-Solder / JITE

27)
Question Stimulus :-
The non-metal which has metallic lusture is / 3{YUTq foad arfeas 9ve E?R'ﬁ %
® Diamond / ﬁ?T
* lodine / STATSIA
® Sulphur / JePBR
® Graphite / 'a'w
Correct Answer :-lodine / TSI

28)
Question Stimulus :-

Which of the following elements has the same molecular mass as its atomic mass? / ﬁ'ﬁﬁl@ﬁ ﬁ '\ﬁ W T‘I@ %

TRUTU[E ST IS9P SM0ad FoTHT & T 8l 82
® Nitrogen / ITgCIo
e Argon / 3
e Oxygen / ST
® Chlorine / TR
Correct Answer :-Argon / 3T
29)

Question Stimulus :-

Whole mass of the atom is due to the presence of- / URHTU[ BT IRT KAHTA 3a®! IufRIfT & ST graT -



® Proton and neutron / el 3R %\I':l'
® Electrons and protons / sﬁaﬁ-—r 3R e

® Electrons and neutrons / sﬁaa"h 3R =q§|'=r
® Protons only / Fad dielA

Correct Answer :-Proton and neutron / Wei_ 3R e

30)
Question Stimulus :-

Which of the following alloys contain maximum percentage of copper? / ffad g fea ﬁ[&l’lﬂ\.’rﬁ H PR Bt
wferzaan fRema g2

® Gun metal / T Acd

* Bell metal / UeT-YUTd

® German silver / wH R

® Brass / I
Correct Answer :-Gun metal / 79 Acd
31)

Question Stimulus :-

The electrolyte used in a dry cell is / U w‘\ﬁﬁ | Ugad ﬁguaarcraar ?:
e 38% H,SO04 / H>SO4 &1 38%
* Moist paste of ZnCl, & NH4Cl / ZnCl, Td NH4Cl &1 99 a4
e KOH
® Concentrated NaOH / Tifgd NaOH

Correct Answer :-Moist paste of ZnClo & NH4Cl / ZnCly Td NH4Cl &1 9H g

32)

Question Stimulus :-

Eutrophication results in reduction of / '\T?ﬁ'q'UTsﬂﬁ? Wﬂﬁmam%
* Oxygen on land / Y& R SfTRAH



® Dissolved oxygen in water bodies / ST¢l gal o faafRea sifeite=
® Dissolved minerals in drinking water / U= & gl o faafRa @t e
® Dissolved nitrates in soil / Il # faafa qﬁa?

Correct Answer :-Dissolved oxygen in water bodies / STd gral ¥ faafRa sifwite=

33)
Question Stimulus :-

Which of the following oxides of nitrogen is not a common air pollutant? / e q'f%@'\_rﬁ & m i
HTHT aTg UgU® BI- AT 3?2

* NO,

* N,0

* NO

* NOs
Correct Answer :-N,05
34)

Question Stimulus :-

The poisonous gas that reduces the O, intake capacity of haemoglobin in blood is / fateht A9 <) 7o # IﬁTrj\E

FURATST & 0, TGV HIA B &TdT B FH Hel 8 :

* CO,

[ ] O3
* NO,
Correct Answer :-CO

35)
Question Stimulus :-

Identify the most metallic element from Na, Li, Rb, Cs, K belonging to I group of the
periodic table. / Na, Li, Rb, Cs, K ® ¥ 3ifiran «nfae® a«@ 71a Sifor =it smad IRt & 9z I 9



waifta @

® Li

® Cs

®* Rb

® Na
Correct Answer :-Cs
36)

Question Stimulus :-

A solution of salt of strong acid and weak base is / Ul 3T 3R W &IRD BT faera @T‘IT %
® Basic / &‘I'R?ﬁ'q
® Moderately basic / HSH &I'R?ﬁ'q
* Acidic / 3=l
® Neutral / W

Correct Answer :-Acidic / 3&g

37)
Question Stimulus :-

Name the gas evolved when ethanoic acid is added to sodium carbonate. /

TUTHIS® 3FT Bl AIfSYH BIaiHc § STa1 W Sl A9 fAwpad! 8, ITPT 719 aad15d

* SO,
Correct Answer :-CO,

38)

Question Stimulus :-



Which among the following sets are members of the same family? / frafafea 4 9 fea qHqe & g JHTH
uRar d &2

e LI, Be,B
® Na,O,P
® Na, Mg, Ca
® F,CIlBr
Correct Answer :-F, Cl, Br
39)

Question Stimulus :-

Which component of food is not digested in our body? / Etlﬁ' TR A WIS $T S 91 YU T'IT;apf PEGLE

e Starch / T

® (Cellulose / '\qﬂ?ﬁ'\q
® Protein / me=
e Fat / 99HT
Correct Answer :-Cellulose / SqANT

40)

Question Stimulus :-

Two chemical substances X and Y combine together to form a product Z
X + Y = Y4

X and Y cannot be broken down into simpler substances by simple chemical reactions.
Which of the following statements are correct about X, Y and Z?

i. Z is a compound.
ii. X & Y are compounds.
iii. X & Y are elements.
iv. Z has a fixed composition.

/ & TS 9 X TH Y U § HART $IP Z BT i Fd §

X + Y = z

X T Y TR A Ufbar gRT &1 Wk awal # fagfed 78 53 on woaa 1 Fufaf@a & @ aF-99 9



dI X, Y UL 2 & g<H & 98l 22
i. Z TP Af® 7
ii. X Td Y 9iffre &1
iii. XTd Y dd 2|
iv. Z ¥ T [Afda Jv=ar g1
® i, ii,iii
° i, iii, iv
i iii, iv
Correct Answer :-i, iii, iv
41)

Question Stimulus :-

A gas cylinder contains 14 kg L.P.G. A family consume 20,000 kJ energy per day for
cooking. If calorific value of L.P.G. is 55 kJ/g, how long will the cylinder last? / T® T
Riftrer # 14 fFal Ta. W5t 31 v ulkar @ ve™ & 53 ufafes 20,000 fFae@ ot $1 @ua Har
21 afe T, dh.sft &1 Ferdieq 9= 55 feaie@/am™ 8, 9 Rdss frar awa g

® 24 days

® 38.5 days

® 36 days

® 28 days
Correct Answer :-38.5 days
42)

Question Stimulus :-

A student want to have 3.011 x 10?3 atoms each of magnesium and carbon. For this purpose he will have to weigh

/ T B AR Td o169 UQ® & 3.011 x 1023 WHTY] 9r8dT 2| $9F o S€ dredT ghm
® 240 Mg24gC

® 12gCand12gMg



® 20gMgand 10g C

® 12gMgand 6gC
Correct Answer :-12gMgand 6 g C
43)
Question Stimulus :-

The symbol of an element is 15P31. The electronic configuration of P3 ~is..... /

TP dd BT UdIP § 15P31| P3 - &1 sAa® AN B.....

® 285
e 282

®* 2.88

2,8,18,3
Correct Answer :-2.8,8
44)

Question Stimulus :-

An organic compound which is used as preservative for food, gives effervescence with baking soda. Its sodium salt
forms methane gas when heated with soda lime. The organic compound is- / Tdh PTA~1P D Sl HIeH & o
uRR&rp B e WERT fRaT STaT €, 98 IFHT WieT & WY geged 3dT & | SHST GIISTH 9qur el
EH & 1Y TH He1 W) AT {9 g491a1 8 Prdfae 9 g

® Ethyl alcohol / Eﬁlﬁﬁﬁﬁﬁ?{

® Benzoic acid / éﬁﬁw 3T

® Acetic acid / Udife® 3

® Sodium benzoate / ofeaw aﬁﬁ"z?
Correct Answer :-Ethyl alcohol / TfUS BepIgid
45)

Question Stimulus :-

The formula of a metal carbonate is M;CO3 What will be formula of its nitride?

/ UTg BTEMAE &1 YT 8 M,CO3 | 3HSP ATSCISS BT I T SN2



* MN
* MN,
Correct Answer :-M;N

46)

Question Stimulus :-

The atomic mass of an element is 19. The second shell of its atom contains 7 electrons. The number of protons in

the nucleus is / T T B RATI-Hgfd 19 §| sﬂ%m%@?ﬂuaﬁmﬁ7sﬁaﬁ'—ré| gfeaaa o
el ¥t W 3

Correct Answer :-9

47)
Question Stimulus :-

Calculate the amount of calcium carbonate required to prepare 14 g of calcium oxide. / 14 g ey 3-”3'\‘1133'

A | IS Hicaqd HIaI-E Bt AT URSBIad B |
* 18g
® 36¢g
* 10g
® 25g
Correct Answer :-25¢g

48)

Question Stimulus :-



Steam causes more severe burn than boiling water because / I9dd Ut ar&&n HTY Tl TR Seq &1
UTq 31 § Fife

® Temperature of steam is higher than boiling water / HTU I dTU ITed U A warer gt 8
® Steam has more heat in the form of latent heat / HTUQ Bt ST W ST > U H Alql ?ﬁﬁ %

® Steam is in the vapor form but boiling water is liquid form / HTJ 9r9q & ¥ ¥ gl % T Serar
Ut 50 & FUH g1 8

® Steam can penetrate deep in tissues. / HTO SHdol d TI'ETI% GEZR0) LE| %

Correct Answer :-Steam has more heat in the form of latent heat / HTT B ST T ST & =Y H

wrel gl 8

49)
Question Stimulus :-

The most dangerous metal pollutant of automobile exhausts is- / Gmm frafa® &1 9a@ @aRAT® I
UgU® o-

® Lead / LS

® Copper / HIUR

® Mercury / URq

® Cadmium / dsirgy

Correct Answer :-Lead / A8

50)
Question Stimulus :-

A beaker contains water with ice cubes floating in it. What will happen when the ice melts? / Th diex | o

Td 39d R 78 T & ¢hs &1 9% & fUraa ) @ grme
® Water level in the beaker goes down. / CIETd o ?@ ST P wi? = 31 SR |
® Water level in the beaker will remain the same. / o # W@ §d T TR FHH ?%TITI
® Temperature of water will remain same. / ST¢T DT dTYHTT JHTA ?%TITI

® Water level will increase. / SI¢l &I &R TSI%TITI

Correct Answer :-Water level in the beaker will remain the same. / Hor # T oId BT TR JHH

/I



Topic:- Maths
1)

Question Stimulus :-

O*x (D)F= O+ S @G = g

If , then *~

L)
Correct Answer :-4
2)
Question Stimulus :-

Find the value of k, if the polynomial p(x) = 5¢° — 3x* +2kx -9 jg divisible by 2x-
1 / k &1 HMF [1d $9, Tfe 9gUe p(x) = 5%° — 3’ +2kx -9 g} 2x-1 W favnfora farar wmee

e -1

73
Correct Answer :-5

3)
Question Stimulus :-

Equation of the line passing through (-2,-4) which is parallel to y axis is / (-2,-4) g ?IW 'ﬂTrRﬁ arelt Y&
FHI®RT, it fF y 318 & wHiaR §

® x+2=0

® x-2=(



® y+4=0

® y-4=0
Correct Answer :-x+2=0
4)
Question Stimulus :-

Equation of the line passing through (-2,5) and parallel to x=2 is / (-2,5) q '[[Gﬂﬁ arett Td x=2 & JHIER

Ricickivicay S S
° Y=2
* X=-2
® X=5
°* Y=5
Correct Answer :-X=-2
5)
Question Stimulus :-

In the figure, if £ACD =120° , then the value of x+y is /9 ICE] fr', gfe
LACD = 12{]”’ ?h' X+y mqﬂ%

120
BE P C D

k

® 160
® 140
* 120
® 100
Correct Answer :-120

6)

Question Stimulus :-



A chord of circle of radius 10cm is 12cm long. Then the distance of this chord
from the centre of the circle is / TF 10 91 Fsar arelt g9 &1 U Sitar 12
At &t 3] <t 99 F ¥ A 59 ST F g 3

® 6cm
® Scm
® 8Scm
® 12cm
Correct Answer :-8cm
7)
Question Stimulus :-
Perimeter of an isosceles triangle is 24 cm, the ratio of equal sides to its base is
3:2, then the area of the triangle is / T qufgarg Bys ot ukft 24 I
2, ST JUME YSI13il &7 MUR A U 3:2 7, 99 AYS &1 &awa Bl
« 18V25q cm
. 183 sq cm
« 5472 sq cm
. 6V6sq cm
Correct Answer :-18‘”’5 sq cm
8)
Question Stimulus :-

The radius of sphere whose surface area is 5544 cm? is /W’ﬁﬁﬁ t{m TG 5544 AHI2 3 ITPL
e 3

® 2]lcm
e 7.5 cm
® 42 cm

® 63cm

Correct Answer :-21 cm



9)
Question Stimulus :-

The polynomials ax3 - 2x2 - 10 and x3 - 2x + a when divided by (x - 1) leave
the remainders Ryand R, respectively. If 3R, - R;= 3, then ‘a’ = / 9gUg ax3 -

2x2 - 10 T4 x3 - 2x + a B! 99 (x - 1) 9 fyurora fFar Srar 8, 99 J9 & Fu & HA:
R,Ud R, UTW Bid | afe¢ 3R, - Ry= 3, 9 'a’ =

Correct Answer :--3

10)
Question Stimulus :-

Ifa+b+c=2anda2+b2+c2=12,thenab+bc+ca=/q'ﬁ'a+b+c=2Q'a'a2+b2+c2=12,ﬂﬁab+bc+ca=

°* -6

Correct Answer :--4

11)
Question Stimulus :-

The remainder, when the polynomial f(x) = 2x3 — x? -2x +5 is divided by (x + 2), is / STd gUG f(x) = 2x3 —x% 2x +5

B (x +2) 9§ faurfora fpar Sar g, aa Qv .

* -10



° 3
Correct Answer :--11
12)
Question Stimulus :-

BF || DE and AB LBF. If /BAC = 50 then, ~ADE = / BF || DE Ud AB 1BF. Ifg

/BAC = 50° dd, /ADE =

°* 140

* 110

® 120

o

° 100
Correct Answer :-140

13)
Question Stimulus :-
PQRS is a parallelogram. ST | PQ and QY L PS. If PQ =12 cm, ST =4cm and PS
= 6 cm then QY = / PQRS U®% UHia? Idy 8| ST L PQ T4 QY L PS. af¢ PQ =12
I, ST = 4 A wd PS = 6 9}, AT QY =
® 10cm
°* §cm
®* l4cm
® S5cm
Correct Answer :-8 cm
14)
Question Stimulus :-

The lengths of sides of a triangle are in the ration 5:5:6 and its perimeter is 32 cm. Its area is / Wﬁ'ﬁﬁ 3t diA



YOIT3fT Bt FETSaY BT TUTH § 5:5:6 TG 3qHT Uy § 32 )| 3P S 8 -
* 60 cm?
* 48 cm?
* 64cm’
* 52cm?
Correct Answer :-48 cm’
15)
Question Stimulus :-

If the diameter of a right circular cone is 14 cm and its volume is 308 cm3, then
its height is / 9f¢ U® a0 girg AP o1 AR 14 Ft Td THPT 3Maa- 308 JW3 ¢, a9
SIS dars g

® 8cm

® 10cm

® 6cm

® 12cm
Correct Answer :-6cm
16)

Question Stimulus :-

The arithmetic mean of first five two digit natural number is 13: / UYH Ui 3-1 3Pl B WIT&I?T ST DI
HHIAR AT § :

° 13
° 14
° 12
e 11
Correct Answer :-12

17)



Question Stimulus :-

A book seller has 48 English, 72 Kannada and 96 Hindi story books which are to
be packed in boxes. If each box has the same no. of books of the same
language, then the number of boxes required is: / Th J&IP faspar & U 48 Gi'ﬁﬁﬁ,
72 H7S 3R 96 @<l HeH! @ fHhard & e v 9@ # U forar i 21 afe ude 9 &
UM HTHT 3 [Rad| B G&T G9M €, a1 fba o) 1 maadarn gihil:

°* 4

* 9

° 12

* 3
Correct Answer :-9
18)

Question Stimulus :-

If the system of equations x + 2y = 3 and ox + By + oy = 12 has infinitely many solutions, then / gfe

TS P x + 2y = 3 TE ox + By + ay = 12 F JURAIG FU F 3[® gd €, a9
* a=3p
* p=3q
° u=p
e ¢ =-PB
Correct Answer :-a=8
19)
Question Stimulus :-

The value of P, for which the equation 2x2 - 4x + P = 0 has real roots, is: / P &I

M, e foe gfievu 2x2 - 4x + P=0 Aqafds A ©, B :



Correct Answer :-P<2

20)
Question Stimulus :-

Which term of the sequence 106, 100, 94, ........ is the first negative term? / 3{<JshH 106, 100, %4, ........ A yud
BUTHP UG DI 82

e 15™ term
o 20™ term
o 19% term
o 17" term

Correct Answer :-19" term

21)
Question Stimulus :-

PA and PB are two tangents drawn to a circle with centre O from an external
point P. If ~/APB =40 , then ~OAB is: / O %% aTdl U& Jd WR U qrgifag P ¥ &f =l
IW@TU PA T4 PB Wi Y| af¢ ~APB =40 , 99 ~OAB BN

A

* 80

* 20

° 40

° 60
Correct Answer :-20$
22)

Question Stimulus :-

ABCD is a rhombus with AC = 6{5 cm, /ADC = 120°. Then the length of side AD



;ﬁ/ ABCD T& qragy 8 R AC = 6Y° cm, ~ADC = 120° 8| @9 YSIT AD & TS

® 6cm

® 3cm

3V6 cm

e 43 cm
Correct Answer :-6 cm
23)
Question Stimulus :-

In a circle of radius 7 cm, an arc subtends an angle of 36 at the centre. Then

the perimeter of the minor sector is / 7 Hofto 34T aTdlt 99 &1 T AU H5 W 36° HI
DT Sfafa Har 8| af oy Hsuavs Ft ufkfdr g -

® 18.4cm

® 17cm

® 164 cm

® 18cm
Correct Answer :-18.4 cm
24)

Question Stimulus :-

2 cubes each of side 3 cm are joined end to end. Total surface area of resulting

cuboid is / 3 Votfto YSIT aTdl &t A1 & HOT BaP A §C¢ & I 14 BT GHiT & @ -
* 27 cm?
* 45cm?
* 54cm’
* 90 cm?

Correct Answer :-90 cm?



25)
Question Stimulus :-

Sum of the exponents of Prime factors in the Prime factorization of 270 is / 270 & UTT W T Uty

UHES! & UTdi®] T a3

Correct Answer :-5

26)
Question Stimulus :-

If m and n are the roots of the equation x2 + 5x -8 = 0, then the value of m2n +

mn2 is /A mTd n AU x2 + 5x -8 = 0F YA E, A m2n + mn2 HFTAAT :
o 40
* 32
o 40
° .32

Correct Answer :-40

27)

Question Stimulus :-

The quadratic equation, one of whose roots is 1+ V3 and the sum of the roots is

2, is / fEura wifiew, eI tE g 1+ V3 dq@ar a2 &
* x*2x-2
° x23x+2
* x23x-2

o x2+2x-2



Correct Answer :-x*-2x -2

28)
Question Stimulus :-

Which of the following is the solution of the equation 2x*—x—6=0? / g & ¥ &9 GHIH0T 22— x - 6=0
PT84 82

® 3,2

-3

© 2, 2
e 2,1

° 2,1

-3
Correct Answer :-2, 2

29)

Question Stimulus :-

4 4
If tan C = 3, then cosec C = / Tlﬁ tan C =3, dd cosec C =

3
3

3
3

L o

5
Correct Answer :-4

30)
Question Stimulus :-

The ratio in which the line segment joining the points P (-1, 2),Q (2, -1) is
divided by the x - axis, is / 98 3/urd foT# & fagsi P (-1, 2), Q (2, -1) &t
et YIS x-3M& & gRT fyufora gt 3:

® 1:2



Correct Answer :-2:1
31)
Question Stimulus :-

The areas of two similar triangles PQR and LMN are 324 cm? and 196 cm?
respectively. If PQ = 27 cm, then LM is / & 99&U fAYsil PQR Td LMN &7 &3%d
PH: 324 92 Td 196 92 g1 afe PQ = 27 I, 99 LM =

® 21 cm
® 12cm
® 14cm
® 9cm

Correct Answer :-21 cm

32)
Question Stimulus :-

The radii of two circles are 25¢cm and 7cm respectively. The radius of the circle, having area equal to the

difference of the areas of the two circles, is / G Q?ﬁa'ﬁ e waRn: 25 I vg 7 I 7 aﬁ'rﬁqa’t%?
AT & AR & JH TG ard ga it a1 8 -

® 24cm
® 20cm
® 2lcm
® 15cm
Correct Answer :-24 cm

33)

Question Stimulus :-

A sphere of diameter 3 cm is completely immersed in water in a right circular cylindrical vessel of radius 3 cm.

The rise in the level of water is / 3 I ST a1 el B TP 3 AW =41 910 a9 AR TSR UH



& e # qofaar garaT AT I S S wWR A IfH B :

® 1cm

[

°
e | L3
0
3

® 2cm

1

Correct Answer -2 cm

34)
Question Stimulus :-

If 0 is an acute angle, Sin0 can be written as / e o U g I %, dd Sineé Q’ﬁ forar
ST T &

41— cos &

*\I'1+CDE:E-"
A1+ cos 28

J1—cos 28
11— cos” @
Correct Answer :-

35)
Question Stimulus :-

In a AABC, right angled at B, if AB = 4 and BC = 3 find sec A. / AABC H, Y B IR GH®IVT g, TfG AB =4 3R
BC =3, dd secAWﬂﬂ'ﬁl’Q]

® 1.25
® (.75

® 133



® 0.6
Correct Answer :-1.25
36)
Question Stimulus :-

Which of the following options is false? / fra # A &9 971 faHey Tad %?

o cos’f-l=sin’éd
sec’@+tan? @ =1

o cosec’@=1+cot’ @

o fAN” H#—sec” #=-1

sec’@+tant @ =1
Correct Answer :-

37)

Question Stimulus :-

If cos 6 = 15/17, then sin 6 = ? /dfd cose =15/17, dd sin e =
?
° 817
° 178
° 158
* 815

Correct Answer :-8/17

38)
Question Stimulus :-

In AABC, right angled at B, AB =24 ¢cm, BC =7 cm, Determine cos C / AABC ﬁ, S B R HSBIU %, AB =24

I, BC =7 9HY, cos € FAuifya &3

® 725



® 24/25
® 7/24
® 24/7

Correct Answer :-7/25

39)
Question Stimulus :-

Which one of the following options is true? / g fawen & @ <19 91 96 82
cos’ 8 +sin 26 =1
cosec’f +cot’ A =1

cosec @=1+cot’ @

cos ect =11.-"5in ‘g

cosec’@=1+cot’ @
Correct Answer :-

40)
Question Stimulus :-

sin 4 + cos A]
is

6( 6 sin 4+ cosA}
If cot A = 3/4, \SinA—cosd ?

/ ¢ cot A = 3/4, [sinA— cos 4

Correct Answer :-42

41)

Question Stimulus :-



= ] g 2

z m- —n" ; m- —n
s A=———— smAdA=——-—
m-+n” m-+n”

If , find cos A / T ' cos A JTd Hiforg

2mn

2 2
m- +n

Zmn

m® +n?
Correct Answer :-

42)

Question Stimulus :-

IftanA=1andsinB = Y2, find the value of cos(A + B) where A and B are

both acute angles. / af¢ tan A = 1 3R sin B = 142, cos(A + B) &1 HIH fAp1fee sigt
A 3R B S g BT § |

° ﬁf.’!

Correct Answer :-0

43)

Question Stimulus :-



* 243
e 27
Correct Answer :-27

44)

Question Stimulus :-

33%2 :[54+8*) g% A :[54+5>‘)
If , find the value of x. / af¢ , X @1 °11 fAoiferg

Correct Answer :-2

45)

Question Stimulus :-

E—E=zand5—§=51 E—E=zand5—§=51
X 0y X Y G X oy X Y 6
Solve / g9 BIfog
3
X=—,y=2
4
[ ]
3
X=—,y=3
o 4
X=—,¥y=3
4

None of these / TH ¥ ®I3 8l



1
X=—,¥=3
Correct Answer :- 3

46)

Question Stimulus :-

-1 =k
Given Tn=>’=n , if T, =64 and x = 2, then the value of 'n’ is / WW%T,,:P
AR T, =643Rx=2,d 'n"HFTAAS

e 7

Correct Answer :-7

47)
Question Stimulus :-

1
27
In G.P. T sum to infinite terms / G.P. # R 3d d& g

1
]-: il
9

Ll |

Correct Answer :- =

48)



Question Stimulus :-

Three numbers are in A.P. The sum of first and third terms is 14.The middle

term is / @9 WM A.P & §] Ugd 3R TR ug &1 &S 14 8| 9wy @I 2

® 6

e 18
° 7
Correct Answer :-7

49)

Question Stimulus :-

Simplify log;o 2 + logyg 5./ 10g1g 2 + log; o 5 WA DY

* 10
Correct Answer :-1
50)
Question Stimulus :-

1 1

1

+
log_x log.x

If abc = 1 then find

Correct Answer :-0

log_x

/ i

abc =1 dd

1

1

1

log_x

log,x

log_x

14 Fiforg



